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2 14:45 12.3 10.2
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B3 SR BA AR I 1 10:32 1.3 0.8 0.5 0.87
MY 2 10:30 0.8 0.8 0.5 0.70
BT Asi N 3 10:29 0.8 1.0 0.8 0.87
SEBR it X HK 4 10:25 1.0 1.0 0.8 0.93
20km/h 71T 1 10:58 1.0 1.0 1.3 1.10
2 10:59 1.0 0.8 0.8 0.87
3 11:00 0.8 0.5 1.3 0.87
4 11:01 0.8 1.0 1.3 1.03
40km/hESTH# 1 11:18 0.8 0.8 0.8 0.80
2 11:20 0.8 0.8 0.8 0.80
3 11:21 0.5 1.0 0.8 0.77
4 11:25 0.5 0.8 0.8 0.70
60km/hESTH# 1 11:50 1.0 0.8 0.8 0.87
2 11:51 0.5 0.8 0.8 0.70
3 11:53 1.0 0.8 0.5 0.77
4 11:54 1.0 0.8 0.5 0.77
80km/hESTH# 1 12:35 0.8 0.8 0.8 0.80
2 12:37 0.8 0.5 0.8 0.70
3 12:38 0.8 0.8 1.0 0.87
4 12:39 1.0 1.0 0.8 0.93
RS2 R BA 4B R 1 13:45 1.0 0.8 1.0 0.93
B9 ~b 2 13:44 0.8 0.8 0.8 0.80
BT As N 3 13:43 0.8 0.8 0.5 0.70
SEBR X HK 4 13:40 0.8 0.5 0.8 0.70
20km/h 71T 1 14:29 0.8 0.8 0.8 0.80
2 14:30 0.8 0.8 1.0 0.87
3 14:31 1.0 0.8 0.5 0.77
4 14:32 1.0 0.5 0.5 0.67
40km/hE1T# 1 14:44 0.8 0.5 1.0 0.77
2 14:45 0.8 0.8 0.8 0.80
3 14:46 0.5 0.8 1.0 0.77
4 14:48 0.8 0.8 0.5 0.70
60km/h =1 T 1 15:10 0.5 0.8 0.5 0.60
2 15:11 0.5 1.0 1.0 0.83
3 15:12 0.8 0.8 0.8 0.80
4 15:13 0.5 0.5 1.0 0.67
80km/h A1 T# 1 15:41 0.8 0.8 1.0 0.87
2 15:40 0.5 0.8 1.0 0.77
3 15:39 0.8 0.8 1.0 0.87
4 15:38 0.5 0.8 0.8 0.70
20km/h (Bl 7E) 1T 1 1 15:59 0.5 0.8 0.5 0.60
2 15:58 0.8 0.8 1.0 0.87
3 15:57 1.0 0.5 0.5 0.67
4 15:56 1.0 0.8 0.8 0.87
40km/h (Bl 7E) 1T 1 1 16:10 0.8 0.8 0.8 0.80
2 16:11 0.8 0.8 1.0 0.87
3 16:12 0.8 0.5 0.8 0.70
4 16:13 0.8 0.8 0.8 0.80
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BB W A 0 | sy e
B SE3 20km/h7E1 T 1 10:07 0.5 0.5 0.8 0.60
e~ (1= H) 2 10:08 0.8 0.5 0.5 0.60
BRT A S 3 10:09 0.8 1.0 0.5 0.77
H J1HK 4 10:10 0.8 0.8 0.8 0.80
5 10:11 0.8 0.5 1.0 0.77
6 10:12 1.0 0.8] — 0.90
20km/h 71T 1 10:14 0.8 0.8 0.8 0.80
(2[[1H) 2 10:15 1.0 0.8 0.5 0.77
3 10:16 0.5 0.8 — 0.65
4 10:17 1.0 0.8 0.8 0.87
5 10:18 0.8 0.8 0.5 0.70
6 10:19 0.8 0.8 0.5 0.70
20km/hETH# 1 10:21 0.5 0.5 0.5 0.50
(3[E1H) 2 10:22 0.8 0.5 0.5 0.60
3 10:23 1.0 0.8 0.8 0.87
4 10:25 0.8 0.8 0.5 0.70
5 10:26 0.8 0.8 0.5 0.70
6 10:28 0.8 0.8 0.5 0.70
40km/hE1TH# 1 10:35 1.0 0.5 0.8 0.77
(1= H) 2 10:36 0.5 0.5 0.5 0.50
3 10:37 0.5 0.5 0.5 0.50
4 10:38 0.8 0.8 0.5 0.70
5 10:39 0.8 0.5 0.5 0.60
6 10:40 0.8 0.8 0.8 0.80
40km/hE1TH 1 10:42 0.8 0.5 0.5 0.60
(2[[1H) 2 10:43 0.5 0.8 0.5 0.60
3 10:43 0.5 0.8 0.5 0.60
4 10:44 1.0 0.5 0.5 0.67
5 10:45 0.8 0.8 0.5 0.70
6 10:46 1.0 1.3 0.5 0.93
40km/hE1TH 1 10:47 0.5 0.5 0.5 0.50
(3[AH) 2 10:48 0.8 0.5 0.5 0.60
3 10:49 0.5 0.8 0.5 0.60
4 10:50 0.5 0.5 0.5 0.50
5 10:51 0.5 0.8 0.5 0.60
6 10:53 0.8 0.5 0.8 0.70
40km/hZE1TH (4181 H) 6 10:57 0.5 0.5 0.8 0.60
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K E W
BRI B P | wwsm — A —
AR 3 60km/hAE1T# (1101H) 1 11:11 0.5 0.8 0.5 0.60
T Y 2 11:12 0.5 0.5 — 0.50
B AstlidE 3 11:13 0.5 0.5 — 0.50
H 1ok 4 11:14 0.5 0.5 0.8 0.60
5 11:15 0.5 0.8 0.5 0.60
6 11:16 0.5 0.5 1.0 0.67
60km/hAE1T (2181 ) 1 11:17 0.5 0.8 0.5 0.60
2 11:18 0.8 0.8 0.25 0.62
3 11:19 0.5 0.25] — 0.38
4 11:20 1.0 1.3 — 1.15
5 11:21 0.5 0.5 0.8 0.60
6 11:22 1.3 1.0 0.5 0.93
60km/hAE1T (3181 ) 1 11:30 1.0 0.8 — 0.90
2 11:24 0.25 0.25] — 0.25
3 11:25 0.8 0.25 0.25 0.43
4 11:26 0.5 — — 0.50
5 11:27 0.8 05 — 0.65
6 11:28 0.8 1.0 0.5 0.77
60km/hAE1TH (4181 H) 6 13:55 0.5 05| — 0.50
60km/hAE1T4 (5181 H) 6 14:01 1.o] — — 1.00
60km/hZELTH (6151 H) 6 14:07 0.5 0.5 0.5 0.50
80km/h#A1T# (1101 H) 1 13:21 0.5 05 — 0.50
2 13:22 0.25 0.25 0.25 0.25
3 13:23 0.25 0.8 0.5 0.52
4 13:24 0.25 0.25 0.8 0.43
5 13:25 0.5 0.25| — 0.38
6 13:26 0.8 0.5 — 0.65
80km/h#A1T# (2l H) 1 13:28 0.5 0.5 0.25 0.42
2 13:28 0.5 0.25] — 0.38
3 13:29 0.5 0.25 0.25 0.33
4 13:29 0.5 0.25| — 0.38
5 13:30 0.5 0.5 0.5 0.50
6 13:31 0.5 0.5 0.5 0.50
80km/h#A=1T7# (301 H) 1 13:33 0.5 0.8 1.3 0.87
2 13:33 0.8 0.8] — 0.80
3 13:34 1.3 0.5 0.25 0.68
4 13:35 0.5 0.25 0.25 0.33
5 13:36 0.8 0.25| — 0.53
6 13:37 0.5 0.8] — 0.65
80km/hAEfT4 (4181 H) 1 13:46 05 — — 0.50
4 13:47 0.8 0.25| — 0.53
6 13:48 0.25] — — 0.25
80km/hAE1T4 (5151 H) 6 15:08 0.8 0.25 0.25 0.43
80km/hAE1T# (6181 H) 6 15:14 0.25| — — 0.25
80km/hAE1TH (7181 H) 6 15:20 05 — — 0.50
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BB L ITE A 0 | sy S
RS t4 60km/hE1T% (1[I H) 1 14:28 0.5 0.8 0.5 0.60
T~ 2 14:29 0.5 0.5 0.25 0.42
BRT As S 3 14:30 0.8 0.5 — 0.65
H J1HoK 4 14:32 0.8 0.5 — 0.65
5 14:33 0.5 — — 0.50
6 14:34 0.5 0.5 — 0.50
60km/hE1T% (2[R H) 1 14:35 1.3 1ol - 1.15
2 14:35 1.0 0.8 0.8 0.87
3 14:36 0.5 0.5 0.25 0.42
4 14:38 0.5 0.5 0.25 0.42
5 14:39 0.5 — — 0.50
6 14:40 0.5 0.5 — 0.50
60km/hE1T% (3[R H) 4 14:44 0.8 0.25| — 0.53
5 14:45 0.8 — — 0.80
6 14:46 0.8 0.5 0.5 0.60
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